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� 3XML� V\XNXU� NHKDGLUDW� $OODK� 6:7��� DWDV� OLPSDKDQ� UDKPDW�� KLGD\DK�� GDQ�

QLNPDW�1\D� VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� ODSRUDQ� LQL� \DQJ� EHUMXGXO�

³.DMLDQ� 3HPEXDWDQ� %ROX� .XNXV� GHQJDQ� 6XEVWLWXVL� 7HSXQJ� .DFDQJ� 0HUDK� GDQ�

7HSXQJ�%LW�VHEDJDL�0DNDQDQ�6HOLQJDQ�7LQJJL�=DW�%HVL�7DKXQ�����´�GHQJDQ�EDLN��

3HQXOLV�PHQ\DWDNDQ�EDKZD�VHOHVDLQ\D�ODSRUDQ�LQL�WLGDN�WHUOHSDV�GDUL�EDQWXDQ�

EHUEDJDL� SLKDN�� 2OHK� NDUHQD� LWX�� SHUNHQDQNDQODK� SHQXOLV� XQWXN� PHQJXFDSNDQ�

WHULPD�NDVLK�\DQJ�VHEHVDU�EHVDUQ\D�NHSDGD���

�� ,EX�'HZL�3XUZDQLQJVLK��6��6L7���0��.HV�VHODNX�'LUHNWXU�3ROLWHNQLN�.HVHKDWDQ�

7DQMXQJNDUDQJ��

�� %DSDN�$ULH�1XJURKR�� 6�*]���0��*L]L� VHODNX�.HWXD� -XUXVDQ�*L]L� 3ROLWHNQLN�

.HVHKDWDQ�7DQMXQJNDUDQJ��

�� ,EX� 0LQGR� /XSLDQD�� 6.0��� 0.0� VHODNX� 3HPELPELQJ� 8WDPD� \DQJ� WHODK�

PHPEHULNDQ� PDVXNDQ�� DUDKDQ�� ELPELQJDQ�� GDQ� PRWLYDVL� VHODPD� SHQXOLVDQ�

WXJDV�DNKLU�LQL��

�� ,EX�1DZDVDUL�,QGDK�3XWUL�6HMDWL��6�73���0�6L�VHODNX�3HPELPELQJ�3HQGDPSLQJ�

\DQJ� WHODK� PHPEHULNDQ� PDVXNDQ�� DUDKDQ�� ELPELQJDQ�� GDQ� PRWLYDVL� VHODPD�

SHQXOLVDQ�WXJDV�DNKLU�LQL��

�� ,EX�5HQL�,QGUL\DQL��6.0���0��6L�VHODNX�3HQJXML�8WDPD�\DQJ�WHODK�PHPEHULNDQ�

PDVXNDQ��DUDKDQ��GDQ�PHPELPELQJ�VHODPD�SHQXOLVDQ�WXJDV�DNKLU�LQL�

�� .HGXD� RUDQJ� WXD� VD\D� \DQJ� VHQDQWLDVD� PHPEHUL� VHPDQJDW�� GRD�� GXNXQJDQ��

PRWLYDVL��GDQ�NDVLK�VD\DQJ��

� 3HQXOLV� PHQ\DGDUL� VHSHQXKQ\D� PDVLK� EDQ\DN� NHNXUDQJDQ� GDODP�

SHQ\XVXQDQ� ODSRUDQ� LQL�� EDLN� GDUL� LVL� PDXSXQ� SHQXOLVDQQ\D�� 2OHK� NDUHQD� LWX��

GLKDUDSNDQ�NULWLN�PDXSXQ�VDUDQ�GDUL�VHPXD�SLKDN�\DQJ�EHUVLIDW�PHPEDQJXQ��

%DQGDU�/DPSXQJ��-XQL������

3HQXOLV
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1DPD�� � � ��$O\DD�5DPDGKDQLD�3XWUL�
1,0� � � � �������������
7HPSDW�7DQJJDO�/DKLU� ��%DQGDU�/DPSXQJ����1RYHPEHU������
$JDPD� � � ��,VODP�
-HQLV�.HODPLQ�� � ��3HUHPSXDQ�
6WDWXV�0DKDVLVZD� � ��5HJXOHU�
$ODPDW� � � ��3HUXP�%.3�%ORN�6�1R�������.HPLOLQJ��%��/DPSXQJ�
$ODPDW�H�PDLO� � ��DO\DDS��#JPDLO�FRP�

5LZD\DW�3HQGLGLNDQ�
�� 7.������������� � ��7.�7XW�:XUL�+DQGD\DQL�
�� 6'�������������� � ��6'1���5DMDEDVD�%DQGDU�/DPSXQJ�
�� 603������������� ��6031���%DQGDU�/DPSXQJ�
�� 60$������������� ��60$1����%DQGDU�/DPSXQJ�
�� ',,,�������������� ��',,,�*L]L�-XUXVDQ�*L]L�3ROWHNNHV�7DQMXQJNDUDQJ�


